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1) Who among the following is the national coordinator for engineering courses K@ on SWAYAM platform?
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4) Metacognition comprises which of the following skills?
A. Planning

B. Developing

C. Monitoring
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Choose the correct answer from the options given below: o
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5) Match List | with List Il

lList 1 List Il

Learning Strategy Action taken

A. Planning and focusing attention 1. Creating example

B. Organising and remembering hl. Self-questioning and mlf~tﬁﬁrg| %
C. Comprehension hiL Setting goal and timetables

D. Cognitive monitoring IV, Using mnemonics, imagery

Choose the correct answer from the options given below: &Oo
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%) Identify the approaches to assesament that require performance in context.

(A) Priming

(B)  Portfolios

(C)  Think-Pair-Share

(D)  Exhibitions

(E)  Token reinforcement Q}

Choose the most appropriate answer from the options glvanbelaw'oo
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(3) (C) and (D) only QQ
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1)
According to the revised Bloom's taxonomy, which of the following categories is considered to be

highest for the learner?

1, Understand
2. Apply
3, Analyse
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[Question ID = 546][Question Description = 106_0_GP16_SE%_ _Qo06]
1. 1 [Option ID = 2181]
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2) PS Q
Which of the following is NOT ch-aractefﬂ‘i@ a good question paper?
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3)
Given below are two statemenits, one is labelled as Assertion A and the other is labelled as Reason
R

Assertion A : MOOCs on the SWAYAM portal can be used for earning upto 40% credits per
semester by students.

Reason R All MOOCs on the SWAYAM portal are credit-based MOOCs,
Ir light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A
2, Both A and R are true but Ris NOT the correct explanation of A \
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3)

Match List | with List 11

List | List Il

Concepts Main Proponent

A. Self-education through development of individuality |I. Sri Aurobindo

B. Integral education I, Mahatma Gandhi

C. Education to transform human mind III. Maria Montessori @\
D. Basic education (Wardha Education System) IV, J, Krishnamurti QQ
Choose the correct answer from the options given below: (b
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Assertion A : The purpose of 21 century Higher Education is to promote critical and
creative thinking abilities among students.

Reason R : Critical and creative thinking help students in placements.

In light of the above statements, choose the correct answer from the options given
below

(1) Both A and R are true and R is the correct explanation of A

(3) A is true but R is false

(4) A is false but R is true
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Learning Managem (LMS) is a software application used for
(1) Marketing of &umes
(2)

Oﬁudmission of students

(3) Creating institutional websites
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QBID:351478

Given below are two statements, one is labelled as Assertion A and the other is labelled
as Reason R
Assertion A : The higher the Intelligence Quotient, the higher is the Emotional Quotient.

Reason R : Intelligence Quotient indicates the rate of mental growth of a child.

In light of the above statements, choose the correct answer from the options given
below

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false
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Whic onollowing is an offline method of teaching?
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Which of the following methods of teaching-learning is ‘Teacher Centric?

(2) Case-studies discussion
(3) Activity based
(4) Field work
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Subliminal priming as a research concept was fi sed in the discipline of

(1) Sociology ‘\\'o
(2) Political Science (b
O

(3) Economics 0
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1)

In the Four-Quadrant format of MOOCs, which of the following facilitates interactions amongst learners
and course coordinators?

1. Videos

2, Assessments
3. Reading material
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Which of the following is a graphical tu‘b yrganising and representing knowledge?
2. Lesson plan 60
3. Summary

4, Diagram @
S

¥H 1 Wiad [ @Y @ foy FRffEa o 8 ®1F U@ A% SudRT & ?

2. 0l6-
3.9R

4, a3

Question Description = 107_0_GP20_SEP22_S2_Q07]

2. 2 [Option ID = 10918]
3. 3 [Option ID = 10919]
4. 4 [Option ID = 10920]




3)
Which of the following is a learner-centered method?

2, Lecture method
3. Demonstration method
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ing teaching profession when s/he

-3I hasi ood contral over the students,
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4)
A teacher can have
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